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We s-‘udg the cfom 0 orlus
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3& Decision ‘Mgg;i’#wns ﬁ‘r Rﬂ. Sets.
" We consider a :few impor‘fan‘.'l' decision
pwblwms For reg . vets : |
- ’nae emp'hmss pro(a&/m, |

- The chbdva‘ﬁmw Pnlalmw.

The evphiness pro blow
Imeui: A DFA (NFA) M
" Queshen. Is L(M)=¢ ¢

The._cquin DFAs o
G?, ueshon. Ts L(M)—L(M )?
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A; = AU § te®|TseA;, Jaed:
| : - te §(s,a) } ; »
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Ex. Cousider the :ﬁcﬁ&owc qgNFA M.

 we want to compuié A?‘-‘-.‘.‘ Q) -
A, = 199,91 |
A, = §9.9%,9:19,9¢%
Ay = 190%.9, %958 = Acc,(q)
Note -Hiat 9a +9c a.zi inaccessible
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aﬂechmg LC M)
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Proggsf-Hon. The :f«‘nikn-ess pmb&m |
 for ﬁegu.ear sets is sodvable .
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‘f"""“"'e or m;fmn‘-e
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skmﬂs in L(M). |
2 el(M) and (2|2

- where n = Card(Q). ,
B'a P.L. 2 Cawn be writlen as

2 =Uuvw wherz v is label
g’ a CUC(Q around a state 9
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@ q € A, (q)
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A pg&ca'hons

Comsudu +he Mwma decision prow

&ueshon DQes.__l@ accept some s mg
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Claim. The above deasmw Prob&wu
" is solvable .
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